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1. Figures to the right indicate full marks
2. Ilach section should be rvritten in a separate answer book
3. Be precise and to the point in your answer

SECTION-I
Q-1 Answer the following:
(a) Discuss the problem characteristics tbr the following:

i. Tower ofHanoi
ii. Tic-Tac-Toe

(b) Write an advantage and disadvantage ofDFS and BFS.
OR

Q-l Answer the following:
(a) What is Problem Reduction? Discuss AND-OR Graphs wirh suitable exzunplc. 16l
(b) Discuss Best First Search Technique. 16l

Q-2 Answer the following:
(a) Explain A*algorithm in detail.
(b) When h'(n) overestimate h(n). Discuss with suitable example.

OR
Q-2 Answer the following:
(a) Expiain Steepest Ascent Flill Climbing in detail.
(b) When h'(n) underestimate h(n). Diseuss with suitable example.

Q-3 Answer the following:
(a) Define; Heuristic search technique l2l
(b) When Hill climbing will be fail. Which are the solutions to overcome to those 16l

problems? Explain r.r'ith Block World Problem.
(c) Wrile an output of following programs. (assume domains and predicates) t41
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start:-
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Togoal :- go

*rite("HELLO"), test, write("UVPCE").
go:-

wdre("7rh cE-iT"),test.
tesl:-

!, fail, rvrite("TESTi ").
test:-

wdre("TEST2).
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SECTION-II

Q-4 Answe r the following:
(a) Trace the constraint satisfaction procedure to solve the followirrg cryptarithnretic

oroblem:

DANGER
(b) Compare Propositional Logic and Predicate Logic

OR

Q'4 Answer the following:
(a) Consider the fbllowing sentences:

i. John like all kinds offocd.
ii. Apples are food.
iii. Chicken is food.
iv. Anything anyone eats and isn't killed by is food.
v. Bill eats peanuts and is still alire
Give followiag answem.
i. Translate these sentences into fomrulas in predicate logic.
ii. Prove thal John likes peanuts using backward chaining.
iii. Conven the lonnulas of part (i) into clause form.
iv. Prove that john likes peanuts using resolution.

(b) Discuss Resolution in propositional Logic.

Q-5 Answer the followingl
(a) Discuss alpha-Beta Cutoff with suitable example.
(b) write the examples where hill climbing and best first search behaye (a) sinrilarly

(b) differently.
OR

Q-5 Answer the following:
(a) Suggest the strategy to iolve the Tic,Iac-Toe problem. Define heuristic for that.

Derive the complete procedure to play the game.

{b) When would best first search be worse t}tan a simple breadtir first search?

CROSS
+ROADS

t4l

Q-6 Answer the following:
(a) Prove Fuzzy De Morgan's larv: (A t B)= (A' U B"I
(b) Discuss: Semantic Nets
(c) Solve degree of subset hood using Fit-Vioiation theorem.
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